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(1) After the announcement of the start of the examination,
you should first write your Candidate Number in the space
provided on Page 1 and stick barcode labels in the spaces
provided on Pages 1, 3, 5, 7, 9 and 11.

(2) This paper consists of TWO sections, A and B.

(3) Attempt ALL questions in this paper. Write your answers
in the spaces provided in this Question-Answer Book. Do
not write in the margins. Answers written in the margins
will not be marked.

(4) Graph paper and supplementary answer sheets will be
supplied on request. Write your Candidate Number, mark
the question number box and stick a barcode label on
each sheet, and fasten them with string INSIDE this book.

(5) Unless otherwise specified, all working must be clearly
shown.

(6) Unless otherwise specified, numerical answers should be
either exact or given to 4 decimal places.

(7) No extra time will be given to candidates for sticking on the
barcode labels or filling in the question number boxes after
the ‘Time is up’ announcement.
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Answers written in the margins will not be marked.

SECTION A (50 marks)

1.

The table below shows the probability distribution of a discrete random variable X, where a and b are
constants such that 6 <b <15.

x 0 3 6 b 15
P(X =x) 03 a 0.1 0.2 02

It is given that Var(5X) =739 .
(@ Find aand b. 4 ° R
(b) Let C betheeventthat 0 <X<7.
@) Let D bethe event that 4 < X< 15. Are C and D independent? Explain your answer.

(ii) Let E beaneventsuchthat P(E)#0 . If C and E are mutually exclusive, write down the

greatest possible value of P(E) .
(7 marks)
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2. In an orchestra, % of the members wear glasses. Among the male members, % of them wear glasses. The

probability that a randomly selected member is a female not wearing glasses is 23—0 .

(a)  Given that a randomly selected member does not wear glasses, find the probability that the member is
a female.

(b)  Find the probability that a randomly selected member is a female wearing glasses.

(6 marks)
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When a coin is tossed, the probability of getting a tail is p ,

where 0 < p < 1. When the coin is

tossed 20 times, the ratio of the probability of getting 1 tail to the probability of getting 3 tailsis 49:57.

(@ Find p.

(b)  The coin is tossed k times. Find the least value of & so that the probability of getting at least 1 tail

is greater than 0.85 .
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4. The weekly revision time of each student in a school follows a normal distribution with a mean of x hours.
A random sample of 81 students is drawn from the school. The mean and the standard deviation of the
weekly revision time of these students are 13 hours and 1.75 hours respectively.

(@) The widthofa % confidence interval for g is 0.7 . Find £.

(b)  Itis given that there are 36 boys in the sample, and the mean and the standard deviation of the weekly
revision time of these boys are 12.5 hours and 2 hours respectively. Find the standard deviation of
the weekly revision time of the girls in the sample.

n
[Hint: The sample standard deviation is ! inz —nx? | ]
n-1 =

(6 marks)
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5. Let n be a positive number.

(a) Expand inx in ascending powers of x as far as the term in x° .
e

(b)  Consider the expansion of (1+4x)" + Lm , where m is a positive integer. The coefficients of x
e

and x? inthe expansion are 24 and 980 respectively. Find the coefficient of x° in the expansion.

7 marks
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6. (@) Let " =(x*+x+e)> .

(1) Express u in the form of p(x)ln(q(x)) , where p(x) and q(x) are polynomials.

(ii)  Express %e" in terms of x.

b The equation of the curve 7™ is y = (x* +x+e)***!
( q y

the y-axis by H . Find the equation of the tangentto /” at H .

-
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(7 marks)
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7. A computer programme adjusts the length and the breadth of a rectangular digital picture, such that the length

of its diagonal remains constant while its breadth decreases at the constant rate of 0.5cms™' . Initially, the
length and the breadth of the picture are 20 cm and 15 cm respectively. Denote the breadth of the picture
by x cm. Find the rate of change of the area of the picture when x=7. (4 marks)
\ .
4t =0of

Answers written in the margins will not be marked.
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05 —x?
8. (a)  Using the Standard Normal Distribution Table on page 24, evaluate J e ? dx .
0

(b) Cohsider the curve C: y= (2x—l)eT , where x > 0. Using the result of (a), find the area of the
region bounded by C, the x-axis and the y-axis.

N (7 marks)
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SECTION B (50 marks)

9. The weight of each pumpkin in a large market follows a normal distribution with a mean of x# kgand a
standard deviation of o kg. It is given that 30.85% of the pumpkins in the market each weighs more
than 5.7 kg while 78.88% of the pumpkins each weighs between (u— 1.5) kg and (u+1.5) kg .

(a)
(b)

(©)

)

Find ¢ and o. (3 marks)

Suppose that 16 pumpkins are randomly chosen in the market. Find the probability that the
mean weight of these pumpkins does not exceed 5.4 kg. (2 marks)

The following table shows the grades and the prices of the pumpkins in the market.

Weight of a pumpkin (W kg) W<3.6 3.6<W<5.7 W>5.17
Grade C B A
Price ($) 50 80 100

Suppose that 8 pumpkins are randomly chosen in the market and these pumpkins are put into a trolley.
6] Find the expected price of the pumpkins in the trolley.
(ii)  Find the probability that there are at least 5 grade B pumpkins and at least 1 grade A pumpkin

in the trolley.
(6 marks)
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10. A courier delivers goods every day. The number of delays in delivery on a day follows a Poisson distribution
with a mean of 1.6 . A day is regarded as smooth if there are fewer than 3 delays on that day.

(a)
(b)
(©)

@

A

Find the probability that a certain day is smooth. (2 marks)
Find the probability that all the 7 days in a certain week are smooth. (2 marks)

Given that all the 7 days in a certain week are smooth, find the probability that there are
exactly 10 delays in that week. (4 marks)

Given that there are no delays in at least 2 days in a certain week, find the probability that
all the 7 days in that week are smooth. (4 marks)

WAERINT S

- 01834

1y oagyt”

~0.\210

(\QL ]LQlJ‘V\ﬂé )%Ve /6)( Ilj)'[-(\ﬁ( (e-lx(,/'@q.

080

—.o.otlo

)

Gletieny (£

G (O (-

~ 00036

Answers written in the margins will not be marked.

Answers written in the margins will not be marked.

2024-DSE-MATH-EP(M1)-14 14



"POYIET 9Q JOU [[IM SUISIRUI 3Y) UT USPLIM SIOMSUY

"PONIBWI 9q JOU [[IM SUISIEW oY} UY USRLIM SIOM3UY

Answers written in the margins will not be marked.

l Go on to the next page>

15

2024-DSE-MATH-EP(M1)-15



Answers written in the margins will not be marked.

11.

The accumulative rainfall of city M on a certain day increases at a rate of P mm per hour. It is given that
P=a(—t* +10t +8)e

where a and b are constants, and ¢ (0 <¢<4) is the number of hours elapsed since 7 am on that day. It is

P

—t2+10t+8

the point (3, —0.1) and the intercept on the horizontal axis is 2.5 .

found that ln( J is a linear function of ¢, and the graph of this linear function passes through

(a) Express ln(—T—]i—J as a linear function of ¢. (1 mark)
—t“+10t+8
(b)  Find the exact values of a and 5. (3 marks)

(c)  Using the trapezoidal rule with 4 sub-intervals, estimate the accumulative rainfall of city M
from 7 am to 11 am on that day. (2 marks)

(d)  The accumulative rainfall of city N on the same day increases at a rate of O mm per hour. It is given
that

162t +5)" ¥

9
4% 43

s

where ¢ (0 £¢<4)is the number of hours elapsed since 7 am on that day.
()  Find J odr .

(i)  Someone claims that the sum of the accumulative rainfalls of city M and city N from 7 am
to 11 am on that day is greater than 160 mm . Do you agree? Explain your answer.
(8 marks)
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12.  Let R be the total revenue (in thousand dollars) of an online shop. It is given that

4R 2605t _5,-0.5t
—_— +2,
dt 2605t + 5e—-05t _ 5

where ¢ (¢ > 0) is the number of months elapsed since the shop opens.

(2)

(®)

)

Does the greatest rate of change of the total revenue of the shop exceed 4 thousand dollars per month?
Explain your answer. _ (4 marks)

Let P be the total profit (in thousand dollars) of the shop. It is given that

4P _dR 1008y +3
de dt
where ¢ (> 0) is the number of months elapsed since the shop opens.

@) Find the total profit of the shop in the first 12 months since the shop opens.

(ii)  Estimate the rate of change of the total profit of the shop after a very long time.
(9 marks)
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Answers written in the margins will not be marked.
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Standard Normal Distribution Table

z .00 .01 .02 .03 .04 .05 .06 .07 .08 .09
0.0 | .0000 .0040 0080 .0120 .0160 .0199 .0239 .0279 .0319 .0359
0.1 0398 .0438 .0478 .0517 .0557 0596 .0636 .0675 .0714 .0753
0.2 | .0793 .0832 .0871 .0910 .0948 .0987 .1026 .1064 .1103 .1141
03 1179 1217 1255 1293 1331 1368 .1406  .1443 1480 .1517
04 | .1554 1591 .1628 .1664 .1700 .1736 .1772 .1808 .1844  .1879
0.5 | .1915 .1950 .1985 2019 .2054 2088 2123 2157 2190 2224
0.6 | 2257 2291 2324 2357 2389 2422 2454 2486 2517 2549
0.7 | 2580 2611 2642 2673 2704 2734 2764 2794 2823 2852
0.8 | 2881 2910 .2939 2967 2995 3023 .305F1 .3078 .3106 3133
09 | 3159 3186 .3212 .3238 3264 3289 3315 3340 3365 3389
1.0 | 3413 3438 .3461 3485 3508 3531 3554 3577 3599 3621
1.1 3643 3665 3686 3708 3729 3749 3770 3790 3810 3830
1.2 | 3849 3869 .3888 .3907 3925 3944 3962 3980 3997 4015
1.3 4032 4049 4066 4082 4099 4115 4131 4147 4162 4177
1.4 | 4192 4207 4222 4236 4251 4265 4279 4292 4306 4319
1.5 4332 4345 4357 4370 4382 4394 4406 4418 4429 4441
1.6 | 4452 4463 4474 4484 4495 4505 4515 4525 4535 4545
1.7 | 4554 4564 4573 4582 4591 4599 4608 4616 4625 4633
1.8 | 4641 4649 4656 4664 4671 4678 4686 . 4693 4699 4706
1.9 | 4713 4719 4726 4732 4738 4744 4750 4756 4761 4767
20 | 4772 4778 4783 4788 4793 4798 4803 4808 4812 4817
2.1 4821 4826 4830 4834 4838 4842 4846 4850 4854 4857
22 | 4861 4864 4868 4871 4875 4878 4881 4884 4887 4890
23 4893 4896 4898 4901 4904 4906 4909 4911 4913 4916
24 | 4918 4920 4922 4925 4927 4929 4931 4932 4934 4936
2.5 4938 4940 4941 4943 4945 4946 4948 4949 4951 4952
2.6 | 4953 4955 4956 4957 4959 4960 4961 4962 4963 4964
277 | 4965 4966 4967 4968 4969 4970 4971 4972 4973 4974
2.8 | 4974 4975 4976 4977 4977 4978 4979 4979 4980 4981
29 | 4981 4982 4982 4983 4984 4984 4985 4985 4986 4986
3.0 | 4987 4987 4987 4988 4988 4989 4989 4989 4990 4990
3.1 4990 4991 4991 4991 4992 4992 4992 4992 4993 4993
32 | 4993 4993 4994 4994 4994 4994 4994 4995 4995 4995
3.3 4995 4995 4995 4996 4996 4996 4996 4996 4996 4997
34 | 4997 4997 4997 4997 4997 4997 4997 4997 4997 4998
3.5 4998 4998 4998 4998 4998 4998 4998 4998 4998 4998
Note : An entry in the table is the area under the standard normal curve between x = 0 and

x=z (z 20). Areas for negative values of z can be obtained by symmetry.

2024-DSE-MATH-EP(M1)-24

24




Level 1
Exemplar 2

2024-DSE
MATH EP
M1

HONG KONG EXAMINATIONS AND ASSESSMENT AUTHORITY

HONG KONG DIPLOMA OF SECONDARY EDUCATION EXAMINATION 2024

MATHEMATICS Extended Part

Module 1 (Calculus and Statistics)
Question-Answer Book

8:30 am — 11:00 am (2% hours)
This paper must be answered in English

INSTRUCTIONS

(1) After the announcement of the start of the examination,
you should first write your Candidate Number in the space
provided on Page 1 and stick barcode labels in the spaces
provided on Pages 1, 3, 5, 7, 9 and 11.

(2) This paper consists of TWO sections, A and B.

(3) Attempt ALL questions in this paper. Write your answers
in the spaces provided in this Question-Answer Book. Do
not write in the margins. Answers written in the margins
will not be marked.

(4) Graph paper and supplementary answer sheets will be
supplied on request. Write your Candidate Number, mark
the question number box and stick a barcode label on
each sheet, and fasten them with string INSIDE this book.

(5) Unless otherwise specified, all working must be clearly
shown.

(6) Unless otherwise specified, numerical answers should be
either exact or given to 4 decimal places.

(7) No extra time will be given to candidates for sticking on the
barcode labels or filling in the question number boxes after
the ‘Time is up’ announcement.

O&EFH etz O B Hi
Hong Kong Examinations and Assessment Authority
All Rights Reserved 2024

2024-DSE-MATH-EP(M1)-1 1

Please stick the barcode label here.

Candidate Number

* AO3 1EO0O01 %



Answers written in the margins will not be marked.

SECTION A (50 marks)

1. The table below shows the probability distribution of a discrete random variable X, where a and b are
constants such that 6 <b <15 .

x 0 3 6 #i| 15
P(X =x) 0.3 a0 01 0.2 0.2

It is given that Var(5X)=739 .

(a) Find a and 4.
(b) Let C betheeventthat 0 < X<7.
@) Let D be the eventthat 4 <X<15. Are C and D independent? Explain your answer.

(ii) Let E beaneventsuchthat P(E)#0 . If C and E are mutuaily exclusive, write down the

greatest possible value of P(E) .
(7 marks)

W . d+pto) H02 402 =|
A= DL

EX) = 0X0.5+ 3X0.) thx0d toab t15X0.2
= Jab+4.2
TEXY]™ = (0.2b14.2)
EX)= oxo 3t X002 t36x00 + P2y t 25 %02
* 4 +0.2b
NAY (5x) = 25vpr () =1
VoY (XY = (50,4 t0.267) - (g.04b” + 168 +1744)
= 504 toab' - go4b” - 168b - (164
= 0. l6b” L6/ b 3276
25 var () #
= 250 t6b - 168b 132,76 ) =739
tobh=3% ov b=2.5re))

Answers written in the margins will not be marked.
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2. In an orchestra, % of the members wear glasses. Among the male members, g of them wear glasses. The

probability that a randomly selected member is a female not wearing glasses is 536 .

(a)  Given that a randomly selected member does not wear glasses, find the probability that the member is
a female.

(b)  Find the probability that a randomly selected member is a female wearing glasses.

3 (6 marks)
o) 50 X5
=
F—')

b)

i Cda
X
NI

Answers written in the margins will not be marked.
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3. When a coin is tossed, the probability of getting a tajlis p, where 0 <p <1 . When the coin is
tossed 20 times, the ratio of the probability of getting @ to the probability of getting 3 tails is @: s7.

(@) Find p.

(b)  The coin is tossed k times. Find the least value of & so that the probability of getting at least 1 tail
A‘——‘

is greater than 0.85 .
(6 marks)

o) 5ﬂ[p+\0!(\-\5)j = 49[3p+ ile*PU
SAp t+ 1083-1083p = 147p ¢ §33-3337

~026p 41083 = -£3Lp 1833

340 pP= -250

P; 25
34

b KA=L3% (-3Y" 1 5085

1€ >378.287442

o The least yalue £ =377

Answers written in the margins will not be marked.
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weekly revision time o

(@)
(b)

The ofa % confidence interval for y is 0.7. Find £.

It is given that there are

4. The gvision time of each student in a school follows a normal distribution with a mean of x hours.
Adandom sampleof students is drawn_from the school. Thefmean]and the standard deviation of the

these students are @ hours and 1.75 hours respectively.

3 in the sample, and the mean and thm the weekly

revision time of these boys are 12.5 hours and@ hours respectively. Find the standard deviation of

the weekly revision time of the girls in the sample.

n—1

n
[Hint; The sample standard deviation is \/ —I—[Z

i=1

(C!B :'O\"

0 2% Bl X 1l

x; —niz] ]

(6 marks)

Flo=1.3

P= 130

p2Lns- 3o xZ=] =2 o]

l%OX%——: 12,15

0 =045
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5.

Let »n be a positive number.

2 . . .
(a) Expand —.- inascending powers of x as far as the term in x° .

e

(b)  Consider the expansion of (1 + 4x)”0% where m is a positive integer. The coefficients of Q
and l \m the expansion ar I980 }espectlvely Find the coefficient of {x”/in the expansion.
2 (7 marks)
0\) 6'/\ X
-nx
= 1€

>, I
=2 -nxt B “’E“ to ]
U[\-Mf%é**‘%"‘* J
3

2 2-opx F nixt e

A

L) (4" +%>(
[ ™ 5 @t e + a4
[2-ny + n™ "+ 8253 4]
= ([ t4mx + "’“"D 4x)" & m("“")éw"l) (%4 ] 1
[2-2nx + Xt %’X oy
*Ut“hv\xf(zm 2W’)X *MM 32t ]H,—l 2h>(+nx+ J
=34 x(4many + X Qintann®) ¢ x3[ 32omin | 22
R o x ! 4m-2n = 24 Y 2N = 24 -4m n= zﬂ:%m i =-12 40
otff ;f x2 1 2mZ-2mtn’ =940
2m” -y +-1242m)” < 140
M- dIm t4mt -4k m + 144 =980
Cmslb T or m =838 (e))

Lol of ¥ T 18,5253 %

Answers written in the margins will not be marked.
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6. (@) Let e* =(x*+x+e)>".

(i) Express u in the form of p(x)ln(q(x)) , where p(x) and q(x) are polynomials.

(i)  Express %e” in terms of x .

2x+1

(b)  The equation of the curve " is y= (x2+x+e) . Denote the point of intersection of /~ and

the y-axis by H . Find the equation of the tangentto /" at H.

" , St (7 marks)
W @ T (XTtxte)
A= (lx'ff)ﬂn()(l'b(*e)
LODX)E 2x4) L 200=: Xtxee

= %
o) els (Cexte)

ag(,r = (W) ( ><1+x+e)2x (2x+1)

= (G xee)”

b) Let (h ) be ?D“V\t 31 (oMo&t,

T i%htl

2% J-€
(x> txte) = dwh
. #
2 ¥ = i a—
(X ’(X'('e - N — [,\
N X = S
9 -4

Answers written in the margins will not be marked.
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A computer programme adjusts the length and the breadth of a rectangular digital picture, such that the length

of its diagonal remains constant while its breadth decreases at the constant rate of 0.5cms™' . Initially, the
length and the breadth of the picture are 20 cm and 15 cm respectively. Denote the breadth of the picture
by x cm. Find the rate of change of the area of the picture when x=7. gﬁo_%d x=1 (4 marks)
d_Let the diggonal 5 length be 4A | & be the breadth
d> A = 0\ 5
A -
; The arga = XB

kﬁmﬁe e
dal - 44 AB

A &=] a4t

=~ 0.5 . &75
= ‘S'SB

Answers written in the margins will not be marked.
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05 —x?
8. (a)  Using the Standard Normal Distribution Table on page 24, evaluate J' e ? dx .
0
Consider the curve C: y=(2x—1)e 2 , where x>0 . Using the result of (a), find the area of the

(b)

region bounded by C, the x-axis and the y-axis.

0.5 —_g. (7 marks)
) So © 7 dx i
™ area = 0915 - )

\n}

) X = LA’E"

b) ‘g-:(lx-l)e; X let w=2x-/
o= [, x_n)PJT Ax (hu= 2hx

Je oo

—_—

DUAIS(2x-1) Ax

(1

¢
§

(1333 x —019!5) dx

)
P
3

2 <
= 0.333x WI4IS* ¢
Pl
b =4
Answers written in the margins will not be marked.
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Y= 61M5x -5 +4 =0

c'\ )< = 2

sub x=2,

4= 5

Answers written in the margins will not be marked.
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SECTION B (50 marks)

9. The weight of each pumpkin in a large market follows a normal distribution with a mean of x# kg and a
standard deviation of o kg. It is given that 30.85% of the pumpkins in the market each weighs more
than 5.7 kg while/78.88% of the pumpkins each weighs between (12— 1.5) kg and (u+1.5) kg .

(a Find g and o. P51 5= 12 (3 marks)

(b)  Suppose that 16 pumpkins are randomly chosen in the market. Find the probability that the
mean weight of these pumpkins does not exceed 5.4 kg. (2 marks)

(¢)  The following table shows the grades and the prices of the pumpkins in the market.

Weight of a pumpkin (# kg) W<3.6 36 <W<S5.7 W>57
Grade C B A
Price ($) 50 80 100

Suppose that 8 pumpkins are randomly chosen in the market and these pumpkins are put into a trolley.

&l
@) Find the ¢xpected price of the pumpkins in the trolley.

(i)  Find the probability that there are at least 5 grade B pumpkins and at least 1 grade A pumpkin

in the trolley.
(6 marks)

) V(X >5\7) :30\350[\3
Plz > 215y - 005
5|—'T;U = 015

571z 0050 ..V

=

-hB5-H
P2 > 220 = 988
2
.‘!‘5 ==1.25
=
“\5:"'~25F
012 ..(2)
('\ 517'/1'4 :O|b\(\‘l>
/%:51|

Answers written in the margins will not be marked. N
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b)) P(Xx <54) D For @ pampkin_doesp't excled ,
Sz« 2T G181 01
= Plz<025) > 000000798
= onn9}] Requred  pinswey
LOPLX S5 = 0oy - 16 x 000001919
= 0vpool1216&
£ Ciyade C
i) Plw €3.6) Qrape B!
= P(Z<-1.25) M 3w gs1)
= 0056 = P(-11542<055)
= 05859
Girade A | ReduieA  Mhsmey !
w25 50X 0,005 6 4 0.5851%40 + 190 x0 3088
=pLz>05) = §3.002
> 050385

(“)Ci (0\5%56,)5(0‘3535)5 t C% (0'5850’)1( 0-5085) 1

S C0.5854)° (0,3085) uo56) * (S (0,5850)° (13p35)° +

(5 (0.535%)> C 01,3085 C0. 056D + (§ (.5859)¢ (0,585 ( hs)

b

TRILY
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10. A courier delivers goods every day. The number of delays in delivery on a day follows a Poisson distribution
with a mean of 1.6 . A day is regarded as smooth if there are fewer than 3 _delays on that day.

. " — P 3)
(a)  Find the probability that a certain day is smooth. (2 marks)
(b)  Find the probability that all the @a/ys/in a certain @e smooth. (2 marks)

(c)  Given that all the 7 .days in a certain week are smooth, find the probability that there are
exactly 10 delays in that week. (4 marks)

(d)  Given that there are no delays in at least 2 days in a certain week, find the probability that
all the 7 days in that week are smooth. (4 marks)

a) P(xX<?)
= P(x=0)+ pXx=1t]x=2)
= 0. 783353489
N

b) (5. 1834)
= 0y /018%%2

%30M8)0
Cl?o (983" ( !—MWHAr
O 012 - odU312
0t 131D . 5
= 55430

Answers written in the margins will not be marked.
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A)_The_miobad:ily o o 4da in o lenst lms

- (G083 0as3C, 4 (o.834) ]

0. 919 4 (] 351
N W94
redived  ahswey ! D}i?l&
N
= Oaigii
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11.  The accumulative rainfall of city M on a certain day increases at a rate of P mm per hour. It is given that
P=a(—t* +10t + 8)e?

where a and b are constants, and ¢ (0 <7< 4) is the number of hours elapsed since 7 am on that day. Itis

found that ln(;) is a linear function of ¢, and the graph of this linear function passes through

~t2 410t +8 X-A XS
the point (3, —0.1) and the intercept on the horizontal axis is 2.5 .
(1.5.0 ))
(a)  Express ln[ 3 P ] as a linear function of ¢. (1 mark)
-t +10¢+38
(b)  Find the exact values of a and 5. (3 marks)

(¢)  Using the trapezoidal rule with 4 sub-intervals, estimate the accumulative rainfall of city M
from 7 am to 11 am on that day. (2 marks)

(d)  The accumulative rainfall of city N on the same day increases at a rate of Q mm per hour. It is given
that

1621 +5)e %M

Q
419 13

>

where ¢ (0 <¢<4) is the number of hours elapsed since 7 am on that day.
G)  Find j' odr .

(ii) Someone claims that the sum of the accumulative rainfalls of city M and city N from 7 am
to 11 am on that day is greater than 160 mm . Do you agree? Explain your answer.
(8 marks)

\

S a(«tl’rl’ot’rX)ebt
p _ bt
10t 13 o
p

Ar —I

0,
ML tott§ ]

bt tina

\
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4o\
b) b= -%T—;——; ha - © e -0 2
O-2
b= 0.2 o <015
OS>
A= Q@
\ -0l
) =’ S("tlﬂot t9e °
P 27 et td)
= ’T‘EJ):IL‘Q)-“# %) 282) 280+ -PH\)-\
= 20.028228¢
N 20,0282
\ rerersye ———w
AD) Q= —— o ietu= §te
we 0 Au= 19"V 04) +
. N A V.
Sadt = [[eotse™ 1 ) At
4t 4 3 J 3.2 G 962 ay
¢ .’)ltemt + o 60““' S+ Au= l!~2e°“‘t At
4te™t t3 o
O
’W’:F;pt’/
-~ = : e
V41 i
A Bs 16(2t) eto J) (*D 1 (1) nate]
) ¢
4te° 13 . - v
O [
s | 1(7 o)y pe w4 B] ke s
‘Ta , (4_(6(}‘#{ {5);
O‘ﬁi _ e ) {OHS) (f o 4e ") ] X
at (4te Mt 13)1

Mo ovex- est imate i LAY
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12.

Let R be the total revenue (in thousand dollars) of an online shop. It is given that

dR 205t _ 5,705t
—= +2,
dt 2e0.5t + 56-0.5[ _ 5

where ¢ (> 0) is the number of months elapsed since the shop opens.

(a)

(b)

*)

Does the greatest rate of change of the total revenue of the shop exceed 4 thousand dollars per month?
Explain your answer. (4 marks)

Let P be the total profit (in thousand dollars) of the shop. It is given that

4 _dR

2t+3
-10(0.8 ,
de dt ©0-8)

where ¢ (¢ > 0) is the number of months elapsed since the shop opens.
(i) Find the total profit of the shop in the first 12 months since the shop opens.
(i)  Estimate the rate of change of the total profit of the shop after a very long time.
(9 marks)

5t o5t
D T T

at 2%t +5¢ 050 o t2

=
|

2-5 _ +
2t5

= 1]
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bid AP

at \£=12

YRS

- 3062045137 ()T
> 2,180
\ Y
B Gim 2e,’ t —5g_1_
¥

oo 08t
-5

%t i5e

Bz 2

)
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Standard Normal Distribution Table

z .00 .01 .02 .03 .04 .05 .06 .07 .08 .09

0.0 | .0000 .0040 .0080 .0120 .0160 .0199 .0239 .0279 .0319 .0359
0.1 .0398 .0438 .0478 0517 .0557 .0596 .0636 .0675 .0714 0753
0.2 | .0793 .0832 0871 .0910 .0948 .0987 .1026 .1064 .1103 .1141
0.3 A179 1217 1255 1293 1331 1368  .1406 .1443  .1480 .1517
04 | .1554 1591 .1628 .1664 .1700 .1736 .1772 .1808 .1844  .1879
0.5 | .1915 .1950 .1985 2019 2054 2088 2123 2157 2190 2224
0.6 | 2257 .2291 2324 2357 2389 2422 2454 2486 2517 2549
0.7 | 2580 2611 2642 2673 2704 2734 2764 2794 2823  .2852
0.8 | 2881 2910 2939 2967 2995 3023 .3051 3078 3106 3133
09 | 3159 3186 3212 3238 .3264 3289 3315 3340 .3365 .3389
1.0 | 3413 3438 3461 3485 3508 3531 3554 3577 3599 3621
1.1 3643 3665 3686 3708 3729 3749 3770 3790 3810 .3830
1.2 | 3849 3869 .3888 .3907 3925 3944 3962 3980 .3997 4015
1.3 4032 4049 4066 4082 4099 4115 4131 4147 4162 4177
1.4 | 4192 4207 4222 4236 4251 4265 4279 4292 4306 4319
1.5 | 4332 4345 4357 4370 4382 4394 4406 4418 4429 4441
1.6 | 4452 4463 4474 4484 4495 4505 4515 4525 4535 4545
1.7 | 4554 4564 4573 4582 4591 4599 4608 4616 4625 4633
1.8 | 4641 4649 4656 4664 4671 4678 4686 4693 4699 4706
1.9 | 4713 4719 4726 4732 4738 4744 4750 4756 4761 4767
20 | 4772 4778 4783 4788 4793 4798 4803 4808 4812 4817
21 4821 4826 4830 4834 4838 4842 4846 4850 .4854 4857
22 | 4861 4864 4868 4871 4875 4878 4881 4884 4887 4890
2.3 4893 4896 4898 4901 4904 4906 4909 4911 4913 4916
24 | 4918 4920 4922 4925 4927 4929 4931 4932 4934 4936
2.5 | 4938 4940 4941 4943 4945 4946 4948 4949 4951 4952
2.6 | 4953 4955 4956 4957 4959 4960 4961 4962 4963 4964
2.7 | 4965 4966 4967 4968 4969 4970 4971 4972 4973 4974
2.8 | 4974 4975 4976 4977 4977 4978 4979 4979 4980 4981
29 | .4981 4982 4982 4983 4984 4984 4985 4985 4986  .4986
3.0 | 4987 4987 4987 4988 4988 4989 4989 4989 4990  .4990
3.1 4990 4991 4991 4991 4992 4992 4992 4992 4993 4993
32 | 4993 4993 4994 4994 4994 4994 4994 4995 4995 4995
33 4995 4995 4995 4996 4996 4996 4996 4996 4996 4997
3.4 | 4997 4997 4997 4997 4997 4997 4997 4997 4997 4998
3.5 | 4998 4998 4998 4998 4998 4998 4998 4998 4998 4998

Note : An entry in the table is the area under the standard normal curve between x =0 and

x=z (z 20). Areas for negative values of z can be obtained by symmetry.
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